The worker has the upper hand — IhYT Y YY1

Overview

The Xn»72 teaches us the view of the 7127 in a case where he hired workers for
eight 0°11°7 (two 2°v20) per day; the workers quit after a half days work. In order to
finish the job the owner must hire workers at the new higher rate of six 2°71°7 for
half-a-day’s work. The workers that quit still receive four 0°71°7 for their half day’s
work for we say m11°%v57 5 %319 70 and the owner cannot claim that since I need to
pay six 2717 now to finish the job, I should only pay them two 2°71°7 (as X017
maintains). Our moon qualifies the meaning of 731°5v; v Y30 7.

$9P71%2 PPN 999wy 198V NN ONY NNOY RDIT 239 9INPT NNNNNN DY NN MDD
The meaning of 711°%v1 HY 5919 7° is that it is not the ‘lower hand’ (the worker is
not at a disadvantage) as 8217 '3 rules, which is that the owner deducts from their
wages the cost of hiring workers at a higher price.

Summary
7I9YR 9Y %310 7 here means that the 19 7° is not 730707 %Y (as 7"7 maintains).

Thinking it over
1. How can we even assume that he should pay them six o717 (if %y v 7

719v7), for presumably’ when they began working the wage was still eight 01177
per day (or four 2>71°7 for half a day); it is only later that the price rose to six 0717
for half a day?!"

2. What would be the ruling (according to the 1127) if the wage dropped to two
0°1°7 per half day; would the workers receive four 2°71°7 or six?

! Seemingly if 7vova v 910 7 is to be taken literally, the workers should receive six 03°7 (instead of four [as the
1127 rule]), since currently the price for half a day’s work is six 0°727. See ‘Thinking it over’ # 1.

* In this same case 7" rules that he pays the quitting workers only two 2317, since it will now cost him six 2™3°7 to
finish the job; the owner need not pay more than a total of eight 0°717 for the entire job; the sum the workers initially
agreed to. This is called rightfully annnna 2y 50 7 for they do not receive even the four 01’7 which they are
(seemingly) entitled to. However when they receive four o127, this can only be called 71175377 9y 5319 7 relative to the
ruling of 7", but it is not really 711°2¥71 5¥ unless they would have received six 2°11°7 (not the four which the 7121 rule).

? See footnote # 1.

* See A" w "N

> See 70 *wAon XK # 60.
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